101.

Ans.
102.

Ans.
103.

Ans.
104.

Ans.

In the following question, some part
of the sentence may have errors.
Find out which part of the sentence
has an error and select the
appropriate option. I a sentence is
free from error, select ‘No Error’.

She has (1)/ reduced her
(2)/consumption to considerably
(3)/No error (4)

A. 1 B. 2
C. 3 D. 4
C

In the following question, some part
of the sentence may have errors.
Find out which part of the sentence
has an error and select the
appropriate option. If a sentence is
free from error, select ‘No Error’.

Liquid water cannot exist on the
surface of Mars as to low(1l)/
atmospheric pressure, which is less
than 1% of Earth’s (2)/except at the

lowest elevations for short
periods.(3)/No error(4)

A. 1 B. 2

C. 3 D. 4

A

In the following question, the

sentence given with blank to filled in
with an appropriate word. Select the
correct alternative out of the four and
indicate it by selective the
appropriate option.

That is cars I know.
A. the worst

B. worst

C. mostly worst

D. one of the worst

C

In the following question, the
sentence given with blank to be filled
in with an appropriate word. Select
the correct alternative out of the four
and indicate it by selecting the
appropriate option.

The of many archaic and
dilatory procedures have proved to
be extremely damaging to our
governance and society

A. caution

B. translation
C. imposition
D. revolution
C
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Ans.
108.

Ans.
109.

Ans.
110.

In the following question, out of the
given four alternatives, select the
one which best expresses the
meaning of the given word.

Curtail

A. Prolong
B. Downsize
C. Lengthen
D. Extend

C

In the following question, out of the
given four alternatives, select the
one which best expresses the
meaning of the given word.

Inference

A. Beginning
B. Conclusion
C. Preparation
D. Discovery
B

In the following question, out of the
given four alternative, select the one
which is opposite in meaning of the

given word.
Consensus

A. Accord
B. Discord
C. Consent
D. Unity

B

In the following question, out of the
given four alternatives, select the
one which is opposite in meaning of
the given word.

Mould

A. Genuine
B. Shape
C. Slice

D. Sculpt
A

Rearrange the parts of the sentence
in correct order.

In developing countries today

P : urban health conditions

Q : than rural health conditions

R : seem to be better

A PRQ B. RQP
C. PQR D. QRP
A

A sentence has been given in

Active/Passive Voice. Out of four
given alternatives, select the one
which best express the same
sentence in passive/Active Voice.



Ans.
111.

Ans.
112.

Ans.
113.

The workers are building the house.

A. The house was being built by
the workers.

B. The house was built by the
workers.

C. The house is built by the
workers.

D. The house is being built by

the workers.
D
A sentence has been given in
Direct/Indirect Speech. Out of the
four given alternatives, select the
one which best expresses the same
sentence in Indirect/Direct Speech.
Sneha said to Arjun,”Go away.”

A. Sneha ordered Arjun to go
away.

B. Sneha asked Arjun that he
should go away.

C. Sneha say to Arjun to go
away.

D. Sneha inquired Arjun to go
away.

A

In the following question, a word has
been written in four different ways
out of which only one is correctly
spelt. Select the correctly spelt word.

A. Aggrression
B. Aggrresion
C. Aggression
D. Agrresson
C

In the following passage, some of the
words have been left out. Read the
passage carefully and select the
correct answer for the given blank
out of the four alternatives.

When the kerosene burned, the fuel

in the tank below would be
pressure, and

a small circular flame

would appear in the  burner.

The valve had to be opened to let
more kerosene vapour to the burner
and pumping resumed. With the

increase in pressure, the
burner flame would spread
a loud noise. To

lower the flame, the valve had to be
opened to reduce the

pressure and then tightened  until
the desired flame size was achieved.
you wanted the flame to
be bigger, you had to hit the piston

again. Pump stoves are still in
vogue.

below would be

pressure

A incida R intn

Ans.
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115.

Ans.
116.

c. about D.
B
In the following passage, some of the
words have been left out. Read the
passage carefully and select the
correct answer for the given blank
out of the four alternatives.
When the kerosene burned, the fuel
in the tank below would be
pressure, and
a small circular flame
would appear in the burner. The
valve had to be opened to let more
kerosene vapour to the burner and
pumping resumed. With the increase
in pressure, the burner flame would
spread a loud noise. To
lower the flame, the valve had to be
opened to reduce the
pressure and then tightened until the
desired flame size was achieved.
you wanted the flame to
be bigger, you had to hit the piston
again. Pump stoves are still in vogue.

under

and a small circular
flame

A. Slow

B. Slowly

(G Slower

D. Slowest

B

In the following passage, some of the
words have been left out. Read the
passage carefully and select the
correct answer for the given blank
out of the four alternatives.
When the kerosene burned, the fuel
in the tank below would be
pressure, and
a small circular flame
would appear in the burner. The
valve had to be opened to let more
kerosene vapour to the burner and
pumping resumed. With the increase
in pressure, the burner flame would
spread a loud noise. To
lower the flame, the valve had to be
opened to reduce the
pressure and then tightened until the
desired flame size was achieved.
you wanted the flame to
be bigger, you had to hit the piston
again. Pump stoves are still in vogue.

would spread a loud
noise.

A. within B. with
C. during D. at

B

In the following passage, some of the
words have been left out. Read the
passage carefully and select the



Ans.
117.

Ans.
118.

Ans,

correct answer for the given blank
out of the four alternatives.
When the kerosene burned, the fuel
in the tank below would be
pressure, and
a small circular flame
would appear in the burner. The
valve had to be opened to let more
kerosene vapour to the burner and
pumping resumed. With the increase
in pressure, the burner flame would
spread a loud noise. To
lower the flame, the valve had to be
opened to reduce the
pressure and then tightened until the
desired flame size was achieved.
you wanted the flame to
be bigger, you had to hit the piston
again. Pump stoves are still in vogue.

had to be opened to
reduce

A. partly B. some
C. everything D. none
A

In the following passage, some of
the words have been left out. Read
the passage carefully and select the
correct answer for the given blank
out of the four alternatives.
be opened to let more kerosene
vapour to the burner and pumping
resumed. With the increase in
pressure, the burner flame would
spread a loud noise. To
lower the flame, the valve had to be
opened to reduce the
pressure and then tightened until the
desired flame size was achieved.
you wanted the flame to
be bigger, you had to hit the piston
again. Pump stoves are still in vogue.

was achieved. you
wanted the flame

A. if B. Nor
C. So D. Thus
A

In the following question, out of the
four alternatives, select the
alternative which best expresses the
meaning of the idiom/phrase.

A bone of contention

A. The only part to which two
arguing parties agree.

B. An issue over which there is
continuing disagreement.

C. A very expensive inherited
property.

D. To be happy with only a few
things.

B

1109.
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Ans.
122.

Ans.
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In the following question, out of the
four alternatives, select the
alternative which best expresses the
meaning of the idiom/phrase.

Zip your lip

A. Keep quiet about something.
B. To talk fast.

C. To not think before speaking.
D. The silence before a storm.
A

In the following question, out of the
four alternatives, select the
alternative which is the best
substitute of the words/sentence.

A military or political group that rules
a country after taking power by force
A. junta

B suffrage

C. Emancipation

D Egalitarinanism

C

In the following question, out of the
four alternatives, select the
alternative which is the Dbest
substitute of the words/sentence.

A person who lives outside his native

country

A. Indigenous
B. Natal

C. Expatriate
D. Intrinsic

C

In the following question, out of the
four alternatives, select the
alternative which will improve the
bracketed part of the sentence. In
case no improvement is needed,
select "no improvement".

At the micro level, the dialectical
process of development in India (has

now heading) towards another
direction.

A. had now heading

B. now heading

C. is now heading

D: no improvement

C

In the following question, out of the
four alternatives, select the
alternative which will improve the
bracketed part of the sentence. In
case no improvement is needed,
select "no improvement".

I wondered what one would have
thought some 40 years ago if you
(had said) you could heat liquid
using a plastic container.

A. having said

B. had say

C. have saying

D. no improvement
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Ans.,
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Ans.
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Ans.
128.

Ans.
129.

Ans.
130.

A

The question below consists of a set
of labelled sentences. Out of the four
options given, select the most logical
order of the sentences to form a
coherent paragraph.

Cars were owned by

A-only a privileged few and

B-my class of society was

C-as yet untouched by it

A. ABC B. CBA
C. CAB D. BCA
A

In the following question, four words
are given out of which one word is
correctly spelt. Select the correctly

spelt word.

A. arogance
B. arroganse
C. aroganse
D. arrogance
D

A arg: S

B SRS

C MEIIGH

D ATIHTT : HeT

B

faf@a wed # v 7 Afeur & &
T AT J9A HT AT

14 :16::22:7?

A. 26 Bk 29
C- 24 D. 28
C

eAfai@d ued & QU 7 [fenr & &
qrafRd IER/IHERT 1 .
ART : BSU : : MRV : ?

A. KFT B. NSW
C. MFG D. NRV
B

Arafof@a uea & Ru & [t & &
fawa ereg oA @1 giav]

A. Car B. Cycle
C. Tyre D. Truck
C

A QU & wea A, AR HEar geA fou
T §)(-) F I IR & T (1) F et
3R & Y TeEr ¥ aRAIE @ gEeRg
gl e 3@ wh adfAaad & 3uR ®
A & fov T R{epeal # ¥ e &
g |

A 1N-121

Ans.
131.

Ans.
132.

Ans.
133.

Ans.
134.

Ans.
135.

Ans.
136.

Ans.
137.

B 12-169
C. 14-225
D. 16-279
D

afof@a wea & v 7 Aeur & &
T HEUHERT 1 giAv|

A. RTVX B. GIKM
C. DFIK D. LNPR
C

RAFATA@T sl T Asganer A Y arel
$A & IR Tord]

1. Journey 2. Judge
3. Jingling 4, Jingle
5. Judgement

A. 32541

B. 53142

C. 43125

D. 15342

C

frfaf@d g 7 Ru 73 eedt # &
ocd 3 AT HfST.
11,13, 16, 18, 21, ?

A. 29 B. 25
(4 27 D. 23
D

T IefshA feam amm &, oo @ o uq
oqcd 8 U A Pewedt # @ dg @@
fahed gfAT, ST 3efshal 1 QT A,

IM, JO, KQ, LS, ?

A. NV B. MU
C. MY D. NT
B

TSHT & Teh Uidd H, Yelld H T
OR ¥ 33-al g Jur 3ifha &1 TI= g
OR ¥ 25-al §| 3o TAET H WER

Seola & UM, Yelld T T S 8-
d 45-ar g T g 9ied & fhder os%h

g7

A. 70 B. 71
C. 69 D. 74
C

fRr A fashedl # @ dF Uysg YT S
fGU I ersg & NERT T TN P Aal
FATATST FeheTl &

Threatened

A. Heart
B. Detain
C. Treat
D. Heated
B

T fafdse & & #, “book is
tough” & “fu la mi”, fo@r ar g
“tough can easy” @& “fu muk po”
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Ans,
140.
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41.

Ans.
142.

forar Srar § “easy not book” @I
“ti po la”.for@r Srdr g3 s HIT A
“tough” & HIs FT §?

A. mi B. Po
e la D. fu
D

Ry ARTT 15 smwr 7 - 'x', &
Yeid aXar g, '+' '+ H YeiRd T §
,+ ' @ yeRd aRdr g 3R X' -
', & YR #dr g Aol #iar g
frafaf@d ue &1 3R Jd R

2-12+10x5+12=7?

A. 32 B. 8
C. 4 D. 14
D

afof@a oo sea g s@
AT H TR WS F v FeT ar
gt & 39w F Icor-scel T

TIfRT?
1+14x30+20-10=12

A. -and +

B. +and x

C. x and -

D. +and +

A

gfe 8*%2 = 3, 14*¥18 = -2 3ix 18*2 =
8, d 14*10 & AT AT HY

A. 2 B. -5
C. -2 D. 6
A

XXXXXXX,  XXXXXXX,  XXXXXXX,
XXXXXXX, XXXXXXX, .
A. XXXXXXX

B. XXXXXXX

C. XXXXXXxX

D. XXXXXXX

C

T 3fer ReRm  arelr Ush AT I 39T
Rererm & foorar g 3R 39 & 3K 6.5
. # . &1 I Far §, e ag e 1
R® S ST § 3R 3T 1.5/FA. T
S 8, e a afetor i @ Hsar §
3R M 2.5 R, dF AT §, 98 39er
Sl ® AZAT & IR I3 1.5 a
ST 8] 39el Ese ufa & day A
ag 3ier 319 Fgl &7

A. 9 fh.#Y. 3W

B. 4 . #r. efeyor

Ans.
143.

Ans.
144,

Ans.
145.

Ans.
146.

C. 4 FA. W
D. 9 fr.# . gfeyor
C

I H of YA QU = § orash A @
Aspy | 3R I R T g e
AT & 6 Al YT I § A% AE
AATIT: Ad a2l & e g@a gl
IR AT T & fr R R At
A ¥ Fla-ardpa @ ARad & FUA
gaRT TEY e ST WhaT YR €, I
H1S &l

HUA | PS off a1sFw ar afgar argeT wEr
gl

FYUT I1: Toft gy asad ga ¢
sy |1 1S o Qe arger w6 g
fasey 11 g 9y qafear aea 81 &

A. Fae sy | wdf ¥

B. Fad fshy 11 Tgr &

C. gt sy | 3R i T &

D. Jar sy I Her g iR A
sy 11

B

fArfafed snefa #, 3mad Rwcast
FERld &, ga T Bomsert @
Y T &, et FfThRT H FeRia
X ¢, IR T 3ARST F 9efHa Far
& |3t @ FeT & FHE 3T AR A
veffa &ar g g e @ A
it &

a

A — |
Cﬁ

A. FGDH B. FGK
C. FHID D. GK
A

TS A foar g oA @ ug
a3 T o RFed F ¥ a4 @
fashed giAT, S e & QU |
MPQ, NQR, ORS, ?

A. QTU B. QST
& PST D. PTU
C

i@ v & ¥ U ¥ [eedl &
¥ o 3 AT R



Ans.

147.

Ans.
148.

Ans.
149,

10,12,14,16,18,?

A. 22 B. 24
C. 20 D. 26
C

o Ru = weat &, I TEam3t & Ir
g v @ g v+ wHg # qEd
&A1 ggelr §EAT ¥ fRdT e aw/faad
¥ gFefd g O 38 F awR/fAa &
HUR R A g| v & fashedt & @

e @I gt
A. (2,3,4)
B. (4,5,6)
e, (6,7,8)
D. (4,6,8)
D

Ife T gUur I MN Y@ 9T 3@ I ar
& Y 3R AT A F - I
e 3Mehfd T Fer gfdfers gran?

D
C
fArfaf@d 3 3Hpid & & &l a1 oo
Rr @ geat 3mpfd & & @ o &
FATT el ST Hehdr?

H|.oo|H|O

CNEC)
o % 7(
A.
A
H[>
0
B.

. [
%

0
%
0

D.

Ans. D

150. UH 2Ueq haol HEAT WHE SaRT aRMam
AT §, ofEr o [Aeeur # @ el v A
foar = g Reeul & Ru ¥ dwewr-
AR 3ERT & & el garT &MU I g,
ohar f& fou & & Jmreggh # | 3megg-l
F T iR afFa & @A 0 ¥ 4 3R
IMgE-Il FT 5 F 9 & 3T 3MYgl & Uh
e A Ugdl 3TH Uled HR g A
TAFH TEAT ¢aRT AT ST Thal g
30T & faT ‘H @ 21 3R 34 3nfe
CaRT ST ST Fhell & TAT ‘Q° H ‘95,
86 3N eaRT cfAT S Thal & &
WE ¥ 3YHr 92T & U 2rsg ‘BURN’
& fU @Hg A TEHET gl
Matrix I
ol 1] 23] 4

ol M| |1 3 ]F

1| B|F|H|F]|B

2l L[ D|A[B]|A

3| K C C D H

4l B|F | K|I|K
Matrix II
5 6 7 8 9

sz x|w|]o]|z

6 R Y S W| O

7lYy|lP|s|wW|[R

8|l Y[ Q|R|Z]Y

9| N[z ]|Ss]|]u]ls
A. 43,69,13,56
B. 30,75,11,97
. 44,79,11,57
D. 44,79,11,57

Anc C



151.

Ans,
152.

Ans.
153.

Ans.
154.

Ans.
155.

Ans.
156.

Ans.
157.

Ans.
158.

(37°7+43%)and  (37%7+43%) @
FATIGTS AT DIy
A. (43 - 37)
B. (43+37)
C. (3737+433%7)
D. 10
D
(61681x61681-31681x31681) g5
30000
AT AT HIfST
A. 93352
B. 94362
C. 93362
D 95362
A

‘g’ & g A & @T,6x + 12y +9 =
03R 2x + gy + 3 =0 & I&T % &

AT ST 3ol T 82

A. 3 B. 2
C. 6 D. 9
B

X=-4,x =2,y = -2 3R y= 3 @it
& FH AN Holdlsd 3HThs H &FThol
(TFATIR SHISAT H) F4T §72?

A. 12 B. 24
C. 15 D. 60
®

AB g &I Sfrar § 3R g7 & Fx ‘o’ F
gfe AB i aeas 20 F.#r, ON-(2v11)
cm §, o gd & B @A #A) Aa
Hifav).

A. 10 B. 12
Cs 13 D. 15
B

gd Hr FEH 99 Sflar @1 s 20.4
QAT Bl g7 @ BeAr_ F

A 10.2 &.#.

B. 10.2 3. @ w9y

C. 10.2 {.#AL & 931 I SR
D 10.2 @& ¥ &#

A

40% TAT 70% ¥ FET IAT g| AT &

&athel H el gfaera 1 gefer gram?
A. 118 B. 110
C. 138 D. 128
C

6300 F I A, BIarC # 1/2:1: 3/5
& 3eqard A fasnfora faar amm & B &

ffear (¥ &) a7 87
A. 3300 B. 2700

Ans.
159.

Ans.
160.

Ans.
161.

Ans.
162.

Ans.
163.

Ans.
164.

Ans.
165.

C. 3000 D. 4200
C

Uaar Va A 184000 & aur
224000 ¥ &r R 32w aeh T AW
& fohan| A ¥ & 3Hd & gred gu e
# U @ fgear 20700 % 8, a 3% ganT
AT AT 1T FHol STH (T H) F1

grem?

A. 43200

B. 45900

= 52300

D. 56400

B

gud 19 QYA & dad F=ar g2
A. 9.5 B. 15.5
C. 19 D. 38

C

T R FUROT &IF &3 & 2 auf &
1392 ¥ dur 3 auf & 1488 & g Sd g
gfa a¥ sarer #r &3 (wfaera #) &= §2

A. 8 B. 10
C. 12 D. 8.5
A

U A #T AT Hed 2808 ¥ g IfQ
arsr gfaRid 17% §, dF A &1 5T 7o

(T &) &1 82

A. 2288 B. 2300
C. 2400 D. 3285
C

T FH HT IHhd Hed 386 I FoT 4
40% 3fesh g| afe df & 408 & ge
& 9RdATd 520% #H 9 7 §, o gfawrd

FIT BIE?

A. 33 B. 40
C. 25 D. 30
D

AT & @ T AU/ U9 T 282
I. 2V3 > 3V2

II. 4vV2 > 2V8

A. hadl I

B. Fadll

C. dariaaril

D I3R 11 &=t

C

X, Y dUT Z Tk & F HAM: 30, 40
aur 50 feat & 9 A Hevdd g| Al
fRerRY T BT FA § R Y Fr
AT g ¥ 4 T qd & BIsat el
ST & F1 et Al 1 g3 gram?
A. 660/47

R ARAN/AT7



Ans.
166.

Ans.
167.

Ans,
168.

Ans.
169.

C. 680/47
D. 665/47
A

T Yoemer 72 fR.A/Eer i afa @ I
W & 1400 A H gl TT WS F TE
fohcer Qehg M2

A. 70 B. 80
C. 72 D. 84
A

Ig IS AE W 2017F AT Welel FHuelr
& g & AHST YSRd FaT g 59
ING & FeIA IR Aeafaf@a
RS F 3 al

Expenditure (in Rs Lakhs) / 209 (@T@ 394 #)

Labour / 59,
50

Research /
FUE, 50

GET Haiftre g9 fh| #He WX fohar I
e?

A. HH

B. $TUSRUT

E- el

D. M &7 SSIRT
D

Tg IS AE W 2017% T Tl FHuelr
& IT 1 {AHSAT YeRId Har g =9
NG F FITA w IR AT
T & 3R &l

Expenditure (in Rs Lakhs) / 20 (@@ 399 #)

Labour / %5,
50

Research /
FHU, 50

T Y (TG T H ) FAT g?

A. 1200 B. 900
C. 1000 D. 1100
A

Iqg Us A¢ W 20173 T @aAd Haar
& T F AHSA USRIT Far g 59
NG F IHeIIad H AR Aeafaf@a
geaT & 3T &

Ans.
170.

Ans.
171.

Ans.
172.

Ans.
173.

Ans.
174.

Expenditure (in Rs Lakhs) / 203 (@1 392 #)

Labour / %,
50

Research /

i, 0

AMNT & SoRT & gAfAcad = arer
8T & Feorg HIoT T AT 39T g

A. 70 B. 75
C, 80 D. 90
B

Tg UIg AE W 20174 v @A Huelr
& g & AAST YSid T g 59
NG & FIIA IR AeAfEd
gt & 3T &

. Expenditure (ug lnl;;\s)/ﬂﬂ: (AT TR )

Labour / %H,
50

Research /
WU, 50

7 AR IqEeu W AT Se arer

I Fel oI I Tohckall YfaIT &2
A. 10%

B. 12%

C. 7.5%

D. 8.33%

D

T 3Ad & fawol fr awars iR 396
Tisrs weer: 17 d.#AL g s@er aRemw

(@AY, #7) AT WY

A. 92 B. 46
E 42 D. 84
B

T HUGA & &ABe 1925 o d.A. g
s aR&AT (F.3). &) &7 T |

A. 360 B. 80
C. 160 D. 180
D

Th M T e N &ABA 5544 T
a.#1. & s g (@A #H) T W

A. 42 B. 21
C. 84 D. 63
A

AABC # B X THAUT & Ifg mzA =
45° &, @ (cosecC + 1/V3) & &
AT



Ans.
175.

Ans,
176.

Ans.
177.

Ans.
178.

179.

Ans.
180.

Ans.
181.

A. (3v2+1)/3
B. (2+Vv3)/2
C. 5/V3

D. (V6+1)/V3
D

AUVW # &HIoT V & AT 90°°%] Ifg
cosecU = 13/12, 3R UV = 2.58.#T,
ar e VW, T ewers (F.A. 7 )T g2

A. 6.5 B. 6

C. 4 D. 5.6
B
fArafaf@a rdcgaear & ¥ FiaT e
& FR] W hiarderd FaTiAcd IW@dT 872
A. gatrarey

B. HHATSATG

C. PG

D. qeiarer 3R HATSrardr et

A

RIS Y@T T FHET Fr raurRem & fov
FiF-Oy gAY afsa Hir = M2
A. TH dgerst dfAfd

B. Adhsrarer afAafa
c. arg afafa

D. & afafa

A

T & @ Fla-ar T AGUNOT a7 FH
e Td JATOT Tl el 872

A. e

B. ATWG
cC. oW
D. AT

IPRT & fha ARSI W &9l ol T
ITd ATAT ST 872

A. Tefier AfEsg

B. A #fESIg

C. STAT ATESIG

D. JIeemer AfEeG

A

¥ H Fedl gl & AR TG H
Prafaf@a & ¥ Sia-ar Fa a8 27
A T, R, J 2T, FHITeT

B Y, 92, FHITA, Uh

C 7, HaTeT, g2, Ash

D 7, FHT, [k, g2t

A

HRd & fhdal Toat & wogg de 82
A. 7 B. 8

C. 9 D. 10

Ans.

82.

Ans.
183.

Ans.
184.

Ans.
185.

Ans.
186.

Ans.
187.

Ans.
188.

3gHACHEE Jolc ¢l ARANSTAT T QT Hikel
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